Name

Lesson 2.2
Enrich

Mixed Models

Solve each problem.

1.

Enrich

Together, Tom and Max have
72 football cards. Tom has 2 more

2. Naomi has 50 red beads and white

than 4 times as many cards as Max has.

How many football cards does
Tom have?

Javier rode his bike for a total of
41 minutes. Before lunch, he rode for

1 minute less than 5 times the number

of minutes he rode after lunch. How
many minutes did Javier ride before
lunch?

beads. The number of red beads is
1 more than 6 times the number of
white beads. How many red beads
does Naomi have?

Marnie practiced her basketball
dribbling. After two tries, she had
bounced the ball 88 times. On the
second try, she had 2 fewer bounces
than 8 times the number of bounces
she had on the first try. How many
bounces did she have on the

second try?

Wwrite Math > How can a multiplication model help you

solve Problem 1?
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